
Solving the quadratic equation: 4x 2 − 37x + 58 = 0:

Recall: The Quadratic Formula says r1 and r2 are the roots of:
ax2 + bx + c = 0

r1,2 =
−(−37)±

√
(−37)2 − 4 · 4 · 58
2 · 4

= 37±
√

1369− 928
8

= 37±
√

441
8

= 37± 21
8

= 58
8 and 16

8
= 29

4 and 2

The solutions to 4x2 − 37x + 58 = 0 are: x = r1,2 = 29
4 , 2

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
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